[1D:9:9:9:9:9:0:9.9:9:9:9:0:9.9.9.9:0:0:9.9.9.9:9:0:0:9.0.9.9:9:0:0.9.9.9:0:0:9.:0.9.0.9:0:0:0.0.9.0:9:0:0.0.9.9:0:0:0:0.9.0.0:0:0:0.0.9.0:9:0:0:0.0.9:0:¢
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Set02 for No.10044

NoOI =[n(U)=40,n(4)=24,n(B)=23,n(4 N B)=14]
n(U) =38 n(4)=9 n(B) =14 n(C)=24 }
n(4d N B)=4 n(4d N C)=8 n(B N C)=10 n(intersect(4,B,C))=3
No03 =[N=100, F=48, V=51, X=24]
No04=[N=124,E=65M=66,B=61,X=22,Y=21,Z=16]
No05=[N=42,G=34,W=19,R=27,4=3,B=1,C=14,D=10]
No06=[n(U)=51,n(4 N B)=13,(n(B N 4)=n(4 N B))=16]
No07=[N=49,4=27,B=26,C=25,D=13,E=11,F=9]
No08=[A=19,B=5,C=24,D=10,E=9,F=22,G=2]
No09 =[N = 600, A =248, B =358, C =282, AB = 160, BC = 160, AC = 130, P = 11]

Nol0=[N=550,5=50,4=290, B=190, C=200,D =100, £=200]
):9:9:9.9:0:0:0:9.9.9.9.9:9.9.9.0.0.:0:9.9.9.9.9.9.9.9.0.0:0:0.:9.9.9.9.9.9.9.0.0.0:0.:9.9.9.9.9.0.0.0.0.0:0:9.9.9.9.9.9.9.0.0.0:0:0.9.9.9.9.0.0.0.0.0.0.¢
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXMA/2-6700102-00002XX

Set02 for No.10127

No0OI =[n(U)=40,n(4)=21,n(B)=17,n(4 N B)=12]
n(U) =33 n(4)=21 n(B)=18 n(C)=38 }
n(d N B)=11 n(4dnn C)=2 n(B N C)=3 n(intersect(4,B,C))=1
No03=[N=69, F=32,V=45X=19]
No04=[N=99, E=47, M=48, B=40,X=21,Y=18,Z=14]
No05=[N=37,G=18, W=21,R=14,4=7,B=10,C=9,D=3]
No06=[n(U)=44,n(4 N B)=12,(n(B N 4)=n(4 N B))=12]
No07=[N=28,4=15,B=22,C=9,D=4,E=10, F=8]
No08=[A=21,B=15,C=29,D=10,E=17,F=23,G=10]
No09 = [N =400, A =209, B=259, C =193, AB =103, BC =83, AC=123,P=10]

Nol0=[N=610,5=130,4=300,B=140,C=170,D =130, E=130]
)19,9,9:9:9.9.9.0:0:0:9:9.9.9:9.9.9.9.9.0:0:9:9.9.9.9.9.9.9.9.0:0:0:9.9.9.9:9.9.9.9.0:0:0:9.9.9.9.9.9.9.9.0.0:0:9:0.9,9.9.9.9.9.0.0:0:9.9.9.9.9.9.0.0:¢
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXME /2-6700102-00003XX

Set02 for No.10305

NoOl =[n(U)=31,n(4)=20,n(B)=16,n(4 N B)=11]
n(U) =27 n(4)=14 n(B) =21 n(C)=6 }
(AN B)=13 n(4dnn C)=4 n(B N C)=5 n(intersect(4,B,C))=4
No03=[N=73,F=43, V=42, X=26]
No04=[N=128,E=T74, M=69, B=60,X=23,Y=27,Z=20]
No05=[N=42,G=33, W=22,R=27,4=4,B=0,C=17,D=9]
No06=[n(U)=36,n(4 N B)=9,(n(B N A)=n(4 N B))=28]
No07=[N=31,4=24,B=12,C=21,D=14,E=10, F=11]
No08=[A=18,B=8,C=21,D=4,E=8F=15G=1]
No09 =[N =500, 4 =329, B=269, C=301, 4B =193, BC =103, AC=193, P = 14]

NolO=[N=680,5=90,4=400,8=190,C=180,D =170, E=160]
X [Page = 0001] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXXXXXXKXXKXXKXXKXXKXKXKXKK
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);0:9:9.:0:9:9.:0:9:9.0:9:9.0:9:9.0:9:9.0:9.:9.0:9:9.0:0.:9.0:9.:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:0.0:0:0.0:0:9.0:0:0.0:0:9.0:0:0.0:0.¢
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Set02 for No.10491

NoOI =[n(U)=34,n(4)=17,n(B)=18,n(4 N B)=8]
n(U) =52 n(A4)=22 n(B) =27 n(C)=26 }
n(d N B)=15 n(4d n C)=8 n(B N C)=14 n(intersect(4,B,C))=06
No03=[N=72,F=26,V=37,X=11]
No04=[N=127,E=55M=71,B=53,X=19,Y=19,Z=19]
No05=[N=33,G=18, W=18,R=9,4=3,B=10,C=6,D=2]
No06=[n(U)=32,n(4 N B)=12,(n(B N A)=n(4 N B))=6]
No07=[N=46,4=26,B=29,C=28,D=12, E=16, F=18]
No08=[A=33,B=17,C=26,D=22,E=17,F=28,G=12]
No09 =[N =500, A = 255, B=295, C = 345, AB = 105, BC = 195, AC = 205, P = 16]

Nol0=[N=490,5=40,4=200,B=110,C=140,D =70, E=240]
):9:9:9.9:0:0:0:9.9.9.9.9:9.9.9.0.0.:0:9.9.9.9.9.9.9.9.0.0:0:0.:9.9.9.9.9.9.9.0.0.0:0.:9.9.9.9.9.0.0.0.0.0:0:9.9.9.9.9.9.9.0.0.0:0:0.9.9.9.9.0.0.0.0.0.0.¢
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXMA/2-6700102-00005XX

Set02 for No.10782

NoOI =[n(U)=35,n(4)=17,n(B)=22,n(4 N B)=12]
n(U) =50 n(4)=25 n(B) =25 n(C) =34 }
n(d N B)=10 n(4d n C)=17 n(B n C)=16 n(intersect(4,B,C))=9
No03=[N=68, F=37, V=44 X=26]
No04=[N=97,E=48, M=47,B=50,X=19,Y=23,Z=10]
No05=[N=33,G=22,W=14,R=18,4=3,B=8,C=6,D=5]
No06=[n(U)=39,n(4 N B)=16,(n(B N A)=n(4 N B))=9]
No07=[N=33,4=23,B=13,C=25,D=16,E =10, F=8]
No08=[A=15,B=5,C=27,D=5E=11,F=20,G=1]
No09 =[N = 600, A =304, B=234, C =274, AB = 120, BC = 120, AC = 80, P = 3]

Nol0=[N=610,5=20,4=330,8=80,C=170,D =220, E=300]
)19,9,9:9:9.9.9.0:0:0:9:9.9.9:9.9.9.9.9.0:0:9:9.9.9.9.9.9.9.9.0:0:0:9.9.9.9:9.9.9.9.0:0:0:9.9.9.9.9.9.9.9.0.0:0:9:0.9,9.9.9.9.9.0.0:0:9.9.9.9.9.9.0.0:¢
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXME /2-6700102-00006XX

Set02 for No.11040

NoOI =[n(U)=36,n(4)=16,n(B)=19,n(4 N B)=6]
n(U) =45 n(A4) =26 n(B) =128 n(C)=26 }
n(d N B)=14 n(4d n C)=14 n(B n C)=14 n(intersect(4,B,C))=4
No03=[N=82, F=50, V=41, X=23]
No04=[N=101,E=48, M=71,B=47,X=11,Y=10,Z=21]
No05=[N=32,G=14,W=24,R=14,4=3,B=10,C=9,D=1]
No06=[n(U)=46,n(4 N B)=11,(n(B N 4)=n(4 N B))=9]
No07=[N=29,4=20,B=18,C=15,D=8,E=14, F=7]
No08=[A=23,B=11,C=25,D=22,E=19, F=40,G=11]
No09 =[N =600, A =308, B =238, C=282, AB =90, BC=90, AC=120,P=1]

Nol0=[N=600,5=110,4 =210, B=130,C=140,D =100, £ =280]
X [Page = 0002] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXXKXKXKXXKXXKKKKXKXKXKXKK
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Set02 for No.11048

NoOI =[n(U)=35,n(4)=19,n(B)=13,n(4 N B)=5]
n(U) =33 n(4)=15 n(B) =21 n(C)=16 }
n(d N B)=7 n(4d N C)=10 n(B n C)=10 n(intersect(4,B,C))=06
No03=[N=57,F=29, V=24 X=11]
No04=[N=80,E=38,M=39,B=53,X=10,Y=22,Z=28]
No05=[N=32,G=19,W=18,R=24,4=4,B=2,C=9,D=6]
No06=[n(U)=37,n(4 N B)=11,(n(B N A)=n(4 N B))=8]
No07=[N=38,4=23,B=21,C=15,D=9, E=10, F=5]
No08=[A=35B=14,C=22,D=19, E=10, F=24,G=10]
No09 =[N =500, 4 =239, B=219, C=361, 4B =83, BC =143, AC =173, P = 14]

NolO0=[N=460,5=40,4=320,8B=220,C=190,D =230, E=110]
):9:9:9.9:0:0:0:9.9.9.9.9:9.9.9.0.0.:0:9.9.9.9.9.9.9.9.0.0:0:0.:9.9.9.9.9.9.9.0.0.0:0.:9.9.9.9.9.0.0.0.0.0:0:9.9.9.9.9.9.9.0.0.0:0:0.9.9.9.9.0.0.0.0.0.0.¢
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXMA/2-6700102-00008XX

Set02 for No.11107

NoOI =[n(U)=49,n(4)=29,n(B)=30,n(4 N B)=15]
n(U) =52 n(4)=21 n(B)=25 n(C)=19 }

n(d N B)=12 n(4d N C)=6 n(B N C)=9 n(intersect(4,B,C))=5

No03 =[N =88, F=40, V=49, X=22]

No04=[N=93,E=48, M=36,B=34,X=20,Y=23,Z=10]

No05=[N=37,G=14,W=23,R=24,4=7,B=8,C=7,D=4]

No06=[n(U)=56,n(4 N B)=10,(n(B N 4)=n(4 N B))=15]
No07=[N=35,4=23,B=9,C=21,D=13,E=5,F=3]
No08=[A=31,B=18,C=40,D=18,E=24, F=35G=12]
No09 =[N =500, A =290, B=210, C =240, AB = 170, BC = 70, AC = 160, P=10]

NolO=[N=540,5=130,4=210,B=110,C=110,D=10, E=200]
)19,9,9:9:9.9.9.0:0:0:9:9.9.9:9.9.9.9.9.0:0:9:9.9.9.9.9.9.9.9.0:0:0:9.9.9.9:9.9.9.9.0:0:0:9.9.9.9.9.9.9.9.0.0:0:9:0.9,9.9.9.9.9.0.0:0:9.9.9.9.9.9.0.0:¢
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXME /2-6700102-00009XX

Set02 for No.11419

NoOl =[n(U)=43,n(4)=28,n(B)=23,n(4 n B)=15]
n(U) =32 n(A4)=23 n(B)=17 n(C)=15 }
(AN B)=12 n(4d n C)=10 n(B n C)=7 n(intersect(4, B, C))=5
No03=[N=76,F=33,V=35X=16]
No04=[N=103,E=54, M=66,B=46,X=11,Y=10,Z=18]
No05=[N=32,G=20,W=23,R=17,4=2,B=3,C=13,D=5]
No06=[n(U)=59,n(4 N B)=11,(n(B N 4)=n(4 N B))=16]
No07=[N=45,4=31,B=29,C=24,D=16,E=18, F=14]
No08=[A=38,B=21,C=32,D=15,E=17, F=33,G=9]
No09 =[N =600, A =258, B=298, C =242, AB =138, BC =58, AC =98, P=3]

NolO=[N=690,5=40,4=410,8=170,C=150,D =190, £ =180]
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Set02 for No.11424

NoOI =[n(U)=50,n(4)=23,n(B)=26,n(4 N B)=12]
NoOZz[ n(U) =41 n(4)=13 n(B) =24 n(C)=21 }
n(d N B)=7 n(4d N C)=10 n(B n C)=15 n(intersect(4,B,C))=5
No03=[N=71,F=33,V=38,X=13]
No04=[N=124,E=70, M=67,B=58,X=14,Y=23,Z=17]
No05=[N=28,G=13,W=16,R=18,4=5,B=8,C=6,D=4]
No06=[n(U)=43,n(4 N B)=8,(n(B N A)=n(4 N B))=11]
No07=[N=29,4=10,B=14,C=18,D=5,E=1,F=17]
No08=[A=30,B=15,C=33,D=10,E=11,F=16,G=5]
No09 =[N = 600, A =319, B=309, C =301, 4B =173, BC =203, AC =163, P = 15]

NolO=[N=630,5=50,4=360,8=50,C=190,D =180, £=230]
POO GGG 00000000 GGG G000 0:0:00:00.0:0:0:0.0:0:0:0:0:0:0:6:0::0:0:0:0:6:4

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXM4E/2-6700102-00011XX
Set02 for No.11470

NoOI =[n(U)=32,n(4)=13,n(B)=17,n(4 N B)=6]
NOO2:[ n(U) =40 n(A4)=27 n(B)=25 n(C)=12 }
n(d n B)=17 n(4d n C)=10 n(B n C)=11 n(intersect(4, B, C))=10
No03=[N=75F=46,V=33,X=22]
No04=[N=121,E=62, M=46, B=66,X=21,Y=38,Z=11]
No05=[N=37,G=18, W=17,R=24,4=8,B=7,C=6,D=5]
No06=[n(U)=42,n(4 N B)=5,(n(B N A)=n(4 N B))=15]
No07=[N=46,4=33,B=27,C=28,D=16,E=18, F=17]
No0O8=[A4=28,B=14,C=18,D=12,E=8,F=22,G=17]
No09 =[N=700,4=369, B=279, C=372, AB=173, BC=163,4C=173,P=10]

Nol0=[N=750,S5=60,4=480,B=180,C=270,D =250, E=350]
PO GO GOV 0:00:0 00000000 :00:00:0. 000 006:06:0::0.0:00:0. 0.0 0:06:0:6:0:0:0:0:0.0:0.0:0:0:6:0:6:06:0:0:0:0:0.0:¢
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Set02 for No.11472

NoOl =[n(U)=42,n(4)=24,n(B)=25,n(4 N B)=13]
NoOZ:[ n(U) =30 n(4)=22 n(B)=18 n(C)=12 }
n(4d N B)=17 n(4d n C)=9 n(B N C)=9 n(intersect(4,B,C))=38
No03=[N=79, F=40, V=49, X=27]
No04=[N=97,E=51,M=46,B=41,X=12,Y=23,Z=19]
No05=[N=38,G=22,W=30,R=20,4=2,B=6,C=16,D=6]
No06=[n(U)=37,n(4 N B)=5,(n(B "N A)=n(4 N B))=10]
No07=[N=34,4=21,B=22,C=21,D=14,E=11, F=14]
No08=[A=44,B=22,C=35D=22,E=21,F=32,G=11]
No09 =[N =700, 4 =400, B=1370, C =391, AB =216, BC =216, AC =246, P=17]

NolO=[N=560,5=110,4=320,B8=120,C=130,D=190, E=170]
X [Page = 0004] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXKXXXXXXXKXKXKXKXKXKKKXKXKXKXKK
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Set02 for No.11523

NoOI =[n(U)=37,n(4)=20,n(B)=21,n(4 N B)=12]
n(U) =50 n(A4) =24 n(B) =21 n(C)=16 }
(AN B)y=11 n(4dn C)=6 n(B N C)=2 n(intersect(4,B,C))=1
No03=[N=88, F=43,V=42,X=17]
No04=[N=120,E=49, M=73,B=53,X=16,Y=17,Z=14]
No05=[N=30,G=17,W=17,R=19,4=8,B=1,C=12,D=7]
No06=[n(U)=34,n(4 N B)=11,(n(B N A)=n(4 N B))=6]
No07=[N=44,4=25,B=19,C=30,D=14, E=10, F=13]
No08=[A=32,B=15,C=23,D=19, E=8,F=24,G=17]
No09 =[N =500, 4=313,B=253, C=217,AB =151, BC=141,4C=181, P =22]

Nol0=[N=590,5=50,4=470,B=170, C=230,D =250, £=200]
):9:9:9.9:0:0:0:9.9.9.9.9:9.9.9.0.0.:0:9.9.9.9.9.9.9.9.0.0:0:0.:9.9.9.9.9.9.9.0.0.0:0.:9.9.9.9.9.0.0.0.0.0:0:9.9.9.9.9.9.9.0.0.0:0:0.9.9.9.9.0.0.0.0.0.0.¢
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Set02 for No.11549

NoOI =[n(U)=45,n(4)=18,n(B)=19,n(4 N B)=17]
n(U) =37 n(4)=10 n(B)=17 n(C)=12 }
n(d N B)y=4 n(4d N C)=3 n(BnNn C)=5 n(intersect(4,B,C))=0
No03=[N=76,F=44, V=42, X=23]
No04=[N=119,E=52,M=69,B=57,X=21,Y=22,Z=18]
No0O5=[N=44,G=34, W=26,R=26,4=2,B=2,C=18,D=8]
No06=[n(U)=54,n(4 N B)=16,(n(B N A)=n(4 N B))=13]
No07=[N=35,4=21,B=25,C=24,D=10,E=16, F=18]
No08=[A=26,B=20,C=30,D=13,E=12, F=15G=12]
No09 =[N =600, 4 =216, B=356, C =300, AB = 126, BC = 166, AC=76, P=6]

NolO=[N=650,5=130,4=310,B=110,C=240,D =120, E=300]
)19,9,9:9:9.9.9.0:0:0:9:9.9.9:9.9.9.9.9.0:0:9:9.9.9.9.9.9.9.9.0:0:0:9.9.9.9:9.9.9.9.0:0:0:9.9.9.9.9.9.9.9.0.0:0:9:0.9,9.9.9.9.9.0.0:0:9.9.9.9.9.9.0.0:¢
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Set02 for No.11925

NoOl =[n(U)=47,n(4)=23,n(B)=27,n(4 N B)=13]
n(U) =43 n(4)=21 n(B)=16 n(C)=25 }
n(d N B)=5 n(4dn C)=14 n(B n C)=7 n(intersect(4,B,C))=4
No03=[N=70, F=38, V=31,X=19]
No04=[N=104, E=42, M=47,B=55X=11,Y=27,Z=11]
No05=[N=39,G=23,W=17,R=23,4=10,B=3,C=11,D="7]
No06=[n(U)=44,n(4 N B)=11,(n(B N 4)=n(4 N B))=11]
No07=[N=39,4=26,B=29,C=23,D=17,E=17, F=15]
No08=[A=26,B=11,C=18,D=9,E=4,F=11,G=2]
No09 =[N =500, 4 =265, B=275,C =345, AB = 155, BC =205, AC = 175, P = 24]

Nol0=[N=1730,5=160,4 =390, B=290,C=140,D =220, E=150]
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Set02 for No.11935

No0I =[n(U)=40,n(4)=18,n(B)=16,n(4 N B)=9]
n(U) =30 n(4d)=17 n(B)=8 n(C)=14 }
n(d N B)y=4 n(4d N C)=7 n(B N C)=5 n(intersect(4,B,C))=3
No03=[N=82, F=32, V=48, X=21]
No04=[N=78,E=40,M=34,B=43, X=8,Y=24,7=1]
No05=[N=48,G=29,W=25R=284=9,B=8,C=15,D=10]
No06=[n(U)=37,n(4 N B)=16,(n(B N A)=n(4 N B))=6]
No07=[N=34,4=26,B=20,C=18,D=12,E=13, F = 14]
No08=[A=25,B=12,C=14,D=9,E=8,F=21,G=28]
No09 = [N =400, A = 240, B =210, C =260, AB = 170, BC = 110, AC = 150, P = 20]

NolO=[N=690,5=50,4=430,B8=270,C=270,D=110, E=240]
POO GGG 00000000 GGG G000 0:0:00:00.0:0:0:0.0:0:0:0:0:0:0:6:0::0:0:0:0:6:4
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Set02 for No.12183

NoOI =[n(U)=33,n(4)=14,n(B)=12,n(4 N B)=5]
n(U) =33 n(4)=19 n(B) =11 n(C)=18 }
(AN B)y=6 n(4dn C)=10 n(B n C)=1 n(intersect(4, B, C))=1
No03=[N=72,F=35,V=41,X=16]
No04=[N=125E=5T,M=61,B=76,X=13,Y=41,Z=8]
No05=[N=41,G=18, W=27,R=30,4=7,B=8,C=11,D=9]
No06=[n(U)=48,n(4 N B)=5,(n(B N A)=n(4 N B))=14]
No07=[N=65,4=38,B=37,C=35,D=18, E=18, F=17]
No08=[A=10,B=6,C=22,D=4,E=15F=18,G=3]
No09 =[N = 600, A =228, B=238, C =330, AB = 50, BC = 140, AC = 120, P= 6]

NolO=[N=540,5=20,4=230,B=190,C=120,D =160, E=190]
)19,9,9:9:9.9.9.0:0:0:9:9.9.9:9.9.9.9.9.0:0:9:9.9.9.9.9.9.9.9.0:0:0:9.9.9.9:9.9.9.9.0:0:0:9.9.9.9.9.9.9.9.0.0:0:9:0.9,9.9.9.9.9.0.0:0:9.9.9.9.9.9.0.0:¢
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Set02 for No.1l2246

NoOl =[n(U)=46,n(4)=27,n(B)=18,n(4 N B)=13]
n(U) =47 n(A4) =24 n(B) =19 n(C)=19 }
(AN B)=12 n(4d N C)=9 n(B n C)=8 n(intersect(4,B,C))=5
No03=[N=56,F=27,V=30,X=12]
No04=[N=137,E=74,M=71,B=65X=19,Y=30,Z=22]
No05=[N=30,G=23,W=19,R=12,4=1,B=3,C=13,D=28]
No06=[n(U)=33,n(4 N B)=8,(n(B N A)=n(4 N B))=5]
No07=[N=42,4=27,B=29,C=22,D=14,E=15F=16]
No08=[A=16,B=12,C=22,D=3,E=7,F=12,G=2]
No09 =[N =700, 4 =310, B=300, C=353, 4B=122, BC =152, AC=122, P=4]

NolO=[N=580,5=90,4=340,B=160, C =100, D =220, £ =140]
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Set02 for No.12332

NoOI =[n(U)=37,n(4)=17,n(B)=21,n(4 N B)=17]
n(U) =52 n(4)=29 n(B)=19 n(C) =25 }
(AN B)=12 n(4dn C)=13 n(B n C)=6 n(intersect(4,B,C))=4
No03=[N=85F=33,V=45X=19]
No04=[N=114,E=58, M=48, B=56,X=14,Y=29,Z=9]
No05=[N=36,G=20,W=17,R=31,4=5,B=1,C=6,D=6]
No06=[n(U)=49,n(4 N B)=16,(n(B N 4)=n(4 N B))=13]
No07=[N=32,4=14,B=21,C=26,D=10,E=9, F=19]
No08=[A=26,B=19,C=34,D=12,E=17,F=26,G=10]
No09 =[N = 600, A =249, B=329, C =279, AB = 165, BC = 145, AC =85, P = 13]

Nol0=[N=510,5=20,4=270,8=90,C=70,D=150, E=190]
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Set02 for No.12682

NoOI =[n(U)=35,n(4)=11,n(B)=15,n(4 N B)=6]

n(U) =50 n(4)=19 n(B) =26 n(C)=24 }

(AN B)y=7 n(4dn C)=5 n(Bn C)=13 n(intersect(4,B,C))=3

No03=[N=63, F=35,V=30,X=18]
No04=[N=123,E=55M=73,B=68,X=11,Y=32,Z=15]
No05=[N=34,G=25,W=20,R=21,4=3,B=1,C=14,D=5]
No06=[n(U)=59,n(4 N B)=12,(n(B N 4)=n(4 N B))=15]

No07=[N=38,4=29,B=17,C=20,D=13,E=11,F=17]
No08=[A=32,B=17,C=33,D=16,E=22, F=38, G=12]

No09 =[N =500, 4 =315, B=205, C =375, AB = 145, BC = 175, AC = 225, P = 24]

Nol0=[N=1570,5=30,4=280,8=90,C=170,D =200, E=330]
)19,9,9:9:9.9.9.0:0:0:9:9.9.9:9.9.9.9.9.0:0:9:9.9.9.9.9.9.9.9.0:0:0:9.9.9.9:9.9.9.9.0:0:0:9.9.9.9.9.9.9.9.0.0:0:9:0.9,9.9.9.9.9.0.0:0:9.9.9.9.9.9.0.0:¢
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Set02 for No.12783

NoOl =[n(U)=50,n(4)=27,n(B)=26,n(4 N B)=14]

n(U) =26 n(4)=19 n(B)=38 n(C)=17 }

n(d N B)y=6 n(4dn C)=13 n(B N C)=7 n(intersect(4,B,C))=6
No03=[N=84, F=53, V=41, X=26]

No04=[N=96, E=51,M=55B=42,X=10,Y=23,Z=14]
No05=[N=44,G=26,W=20,R=24,4=7,B=7,C=9,D=3]
No06=[n(U)=30,n(4 N B)=6,(n(B N A)=n(4 N B))=28]

No07=[N=39,4=23,B=24,C=27,D=16,E=13, F=13]

No08=[A=17,B=10,C=26,D=13,E=18, F=34,G=17]

No09 =[N =600, 4 =318, B=378, C =290, AB = 190, BC = 220, AC = 150, P = 16]

Nol0O=[N=580,5=130,4=190,8=130,C=80,D =20, E£=250]
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Set02 for No.13022
NoOI =[n(U)=38,n(4)=17,n(B)=23,n(4 N B)=10]
NoOZz[ n(U) =53 n(4)=23 n(B) =25 - n(0)=31 }
n(d N B)=10 n(4d n C)=16 n(B N C)=16 n(intersect(4,B,C))=9
No03=[N=83,F=43,V=40,X=17]
No04=[N=110,E=75M=45,B=57,X=23,Y=34,Z=1]
No05=[N=45,G=24,W=28 R=23,4=7,B=10,C=14,D =8]
No06=[n(U)=44,n(4 N B)=8,(n(B n 4)=n(4 n B))=15]
No07=[N=34,4=16,B=22,C=19,D=10,E=9, F=11]
No08=[A4=26,B=10,C=14,D=15,E=9,F=23,G=6]
No09 =[N =7500,4=178, B=148, C =252, AB =16, BC = 106, AC = 56, P = 2]

NolO=[N=510,5§=70,4=240,B8=90,C=130,D =100, £=180]
POO GGG 00000000 GGG G000 0:0:00:00.0:0:0:0.0:0:0:0:0:0:0:6:0::0:0:0:0:6:4
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Set02 for No.13650
NoOI =[n(U)=38,n(4)=22,n(B)=17,n(4 n B)=11]
NOO2:[ n(U) =43 n(4)=23 n(B)=23 n(C) =21 }
n(d n B)=11 n(4d N C)=13 n(B n C)=9 n(intersect(4,B,C))=7
No03=[N=64, F=35,V=30,X=15]
No04=[N=121,E=82,M=52,B=61,X=16,Y=38,Z=20]
No05=[N=48,G=35,W=27,R=26,4=3,B=3,C=17,D=8]
No06=[n(U)=30,n(4 N B)=14,(n(B N A)=n(4 N B))=5]
No07=[N=32,4=21,B=14,C=23,D=16,E=8,F=10]
No08=[A4=9,B=6,C=16,D=5E=14,F=21,G=4]
No09 =[N=400,4=179,B=179, C=179, AB =105, BC =95, AC=45,P="17]

NolO)=[N=590,5=110,4=230,B8=50,C=150,D =130, E=270]
PO GO GOV 0:00:0 00000000 :00:00:0. 000 006:06:0::0.0:00:0. 0.0 0:06:0:6:0:0:0:0:0.0:0.0:0:0:6:0:6:06:0:0:0:0:0.0:¢
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Set02 for No.13655
NoOI =[n(U)=42,n(4)=24,n(B)=19,n(4 N B)=9]

Noz—[ n(U) =47 n(A4)=28 n(B) =24 n(C)=19 }
% Tln(4 A BY=12 n(4 A C)=11 n(B n C)=10 n(intersect(4, B, C)) =3

No03=[N=66,F=29,V=35X=12]
No04=[N=138,E=66,M=63,B=78,X=17,Y=42,Z=11]
No05=[N=38,G=21,W=26,R=29,4=6,B=1,C=15,D=7]
No06=[n(U)=31,n(4 N B)=9,(n(B N A)=n(4 N B))=7]
No07=[N=41,4=25,B=27,C=19,D=7,E=13, F=13]
No08=[A=24,B=10,C=22,D=18, E=11,F=24,G=6]

No09 =[N =600, 4 =283, B=233,C=267, AB=143,BC=113, 4C=83, P=8]

Nol0O=[N=2800,5=120,4=390,B8=180,C=110,D =140, £=310]
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);0:9:9.:0:9:9.:0:9:9.0:9:9.0:9:9.0:9:9.0:9.:9.0:9:9.0:0.:9.0:9.:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:0.0:0:0.0:0:9.0:0:0.0:0:9.0:0:0.0:0.¢
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXKXXXKXKXKXKXMA /2-6700102-00025XX

Set02 for No.13667
NoOI =[n(U)=42,n(4)=22,n(B)=16,n(4 N B)=7]

NOZ—[ n(U) =49 n(4)=33 n(B)=16 n(C) =24 }
oves n(d N B)=13 n(4d N C)=17 n(B n C)=7 n(intersect(4, B, C))=7

No03=[N=78, F=44, V=36, X=20]
No0O4=[N=123,E=74, M=63,B="58, X=21,Y=27,7Z=23]
NoO5=[N=44,G=23, W=23,R=20,4=5,B=10,C=7,D=1]
No06=[n(U)=54,n(4 n B)=16,(n(B N A)=n(4 N B))=15]
No07=[N=49,4=26,B=32,C=28,D=14,E=16, F=17]
No08=[A=27,B=14,C=26,D=19,E=14, F=35,G=7]

No09 =[N =600, 4=251,B=291, C=305,4B =141, BC=151,AC=111,P=6]

NolO=[N=550,5=90,4=310,B=140, C=210,D =220, E = 180]
POO GGG 00000000 GGG G000 0:0:00:00.0:0:0:0.0:0:0:0:0:0:0:6:0::0:0:0:0:6:4
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Set02 for No.13734
NoOI =[n(U)=31,n(4)=15,n(B)=18,n(4 N B)=10]

NOZ—[ n(U) =40 n(4)=11 n(B) =23 n(C) =26 }
¢ [n(4 " B)=9 n(4d N C)=8 n(B n C)=14 n(intersect(4,B,C))=6

No03 =[N =83, F=40, V=45, X=24]
No04=[N=125,E=62, M=63,B=50,X=13,Y=28,Z=22]
No05=[N=31,G=19,W=22,R=13,4=2,B=7,C=12,D=6]
No06=[n(U)=63,n(4 N B)=13,(n(B N 4)=n(4 N B))=17]
No07=[N=31,4=22,B=12,C=20,D=12,E=9, F=38]
No08=[A=20,B=2,C=26,D=14,E=14,F=27,G=2]

No09 =[N =800, 4 =481, B=421, C=435,4B =211, BC=231,AC=231,P=12]

NolO=[N=720,5=100,4 =440, B=160, C=310,D =290, E=280]
PO GO GOV 0:00:0 00000000 :00:00:0. 000 006:06:0::0.0:00:0. 0.0 0:06:0:6:0:0:0:0:0.0:0.0:0:0:6:0:6:06:0:0:0:0:0.0:¢
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Set02 for No.13962
NoOI =[n(U)=36,n(4)=13,n(B)=19,n(4 N B)=6]

NOZ—[ n(U) =24 n(4)=15 n(B)=11 n(C)=9 }
ove= n(d N B)y=7 n(4dn C)=7 n(B N C)=3 n(intersect(4, B, C))=2

No03=[N=57,F=24,V=25X=12]
No04=[N=87,E=41,M=49,B=46,X=11,Y=19,Z=0]
No05=[N=37,G=23,W=18,R=27,4=7,B=0,C=11,D=9]
No06=[n(U)=45,n(4 N B)=14,(n(B N 4)=n(4 N B))=12]
No07=[N=27,4=10,B=16,C=20,D=9,E=5,F=10]
No08=[A=34,B=15,C=21,D=18, E=13,F=30,G=28]

No09 =[N=500,4=288, B=188, C=212, AB =156, BC =46, AC =116, P = 8]
Nol0=[N=680,S =140, 4 =330, B=220,C=170,D =120, E =260]
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Set02 for No.14470

NoOI =[n(U)=44,n(4)=22,n(B)=20,n(4 N B)=9]
n(U) =35 n(4)=18 n(B) =14 n(C)=21 }
n(d4d N B)=9 n(4d N C)=10 n(B n C)=7 n(intersect(4,B,C))=6
No03=[N=91, F=47, V=49, X=26]
No04=[N=90,E=53,M=33,B=35X=20,Y=22,7Z=12]
No05=[N=40,G=22,W=26,R=28,4=9,B=2,C=17,D=10]
No06=[n(U)=37,n(4 N B)=7,(n(B N A)=n(4 n B))=7]
No07=[N=47,4=27,B=27,C=32,D=18, E=15, F=16]
No08=[A=16,B=7,C=18,D=10,E=15F=32,G=5]
No09 =[N =500, A = 250, B =210, C = 340, AB = 140, BC = 120, AC =210, P = 20]

Nol0=[N=570,5=110,4 =370, B=200, C=120,D =230, E=100]
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Set02 for No.14561

NoOI =[n(U)=38,n(4)=13,n(B)=20,n(4 N B)=6]
n(U) =51 n(A4)=24 n(B) =28 n(C) =32 }
n(d N B)=12 n(4d n C)=14 n(B n C)=18 n(intersect(4,B,C))=9
No03=[N=91, F=48, V=46, X=23]
No04=[N=132,E=64, M=63,B=71,X=16,Y=31,Z=11]
No05=[N=48,G=23,W=20,R=29,4=9,B=9,C=4,D=3]
No06=[n(U)=38,n(4d N B)=15,(n(B N A)=n(4 N B))=5]
No07=[N=31,4=14,B=19,C=18,D=6,E=5, F=14]
No08=[A=29,B=14,C=29,D=5,E=6,F=16,G=2]
No09 =[N =600, 4 =274, B=244, C =394, AB=112, BC =142, AC =232, P = 16]

NolO=[N=2880,5=50,4=410, B=200, C=200,D =90, E=460]
)19,9,9:9:9.9.9.0:0:0:9:9.9.9:9.9.9.9.9.0:0:9:9.9.9.9.9.9.9.9.0:0:0:9.9.9.9:9.9.9.9.0:0:0:9.9.9.9.9.9.9.9.0.0:0:9:0.9,9.9.9.9.9.0.0:0:9.9.9.9.9.9.0.0:¢
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Set02 for No.14657

NoOI =[n(U)=48,n(4)=23,n(B)=19,n(4 N B)=38]
n(U) =31 n(4)=16 n(B) =20 n(C)=19 }
(AN B)y=7 n(4dn C)=10 n(B N C)=12 n(intersect(4, B, C))=4
No03=[N=62, F=30, V=29, X=12]
No04=[N=126,E=60,M=64,B=79,X=10,Y=38,Z=12]
No05=[N=32,G=16,W=22,R=11,4=4,B=9,C=10,D=2]
No06=[n(U)=50,n(4 N B)=6,(n(B N A)=n(4 N B))=14]
No07=[N=38,4=19,B=27,C=22,D=12,E=16, F=12]
No08=[A=19,B=6,C=24,D=9,E=14,F=29,G=6]
No09 =[N=700,4=359, B=319, C=412, AB=171,BC=191,A4C=161,P=11]

Nol0=[N=750,5=60,4=280,B=120,C=150,D =50, £=420]
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Set02 for No.l466l

NoOI =[n(U)=49,n(4)=27,n(B)=22,n(4 N B)=15]
n(U)=22 n(4)=11 n(B)=7 n(C)=17 }
n(4d N B)=5 n(4d N C)=10 n(B n C)=6 n(intersect(4,B,C))=5
No03=[N=86,F=37,V=40,X=13]
No04=[N=136,E=74 M=83,B=62,X=20,Y=22,7Z=23]
No05=[N=35,G=19,W=16,R=17,4=7,B=5,C=7,D=2]
No06=[n(U)=35n(4 N B)=12,(n(B N A)=n(4 N B))=8]
No07=[N=42,4=21,B=26,C=18,D=6,E=13, F=8]
No08=[A=13,B=8,C=20,D=4,E=14,F=19,G=4]
No09 =[N =500, A =225, B=205, C =235, AB = 135, BC = 105, AC=75,P=10]

Nol0=[N=730,5=70,4=460, B=250,C=210,D =300, £=190]
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Set02 for No.14674

NoOI =[n(U)=42,n(4)=19,n(B)=24,n(4 N B)=14]
n(U) =42 n(4)=23 n(B) =22 n(C) =28 }
n(d N B)=12 n(4d n C)=12 n(B n C)=11 n(intersect(4, B, C))=2
No03=[N=67, F=35,V=33,X=22]
No04=[N=116,E=51,M=51,B=57,X=13,Y=31,Z=17]
No05=[N=52,G=31,W=29,R=31,4=7,B=4,C=15,D=8]
No06=[n(U)=51,n(4 N B)=10,(n(B N 4)=n(4 N B))=16]
No07=[N=37,4=28,B=21,C=21,D=18, E=13, F=11]
No08=[A=22,B=18,C=31,D=13,E=20,F=34,G=11]
No09 =[N=500,4 =184, B=244, C =326, AB=118, BC =168, AC =128, P = 14]

NolO=[N=590,5=120,4=370,B=270, C=200,D =140, E=160]
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Set02 for No.14676

NoOI =[n(U)=35,n(4)=20,n(B)=17,n(4 N B)=7]
n(U) =52 n(A4) =30 n(B) =30 n(C)=21 }
n(d N B)=18 n(4d n C)=12 n(B n C)=17 n(intersect(4, B, C))=9
No03=[N=88, F=53, V=42, X=26]
No04=[N=124,E=61,M=70,B=52,X=18,Y=19, Z=16]
No05=[N=46,G=30,W=25R=20,4=5B=9,C=14,D=4]
No06=[n(U)=35,n(4 N B)=10,(n(B N 4)=n(4 n B))=10]
No07=[N=27,4=9,B=18,C=15D=4,E=4,F=7]
No08=[A=25,B=13,C=22,D=17,E=18,F=28,G=11]
No09 =[N =400, 4 =210, B=140, C =162, AB =40, BC=70, AC=110, P=10]

NolO=[N=530,5=10,4=210,B=40,C=120,D =130, £=230]
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Set02 for No.14685

NoOI =[n(U)=26,n(4)=13,n(B)=12,n(4 N B)=6]
n(U) =39 n(A4)=27 n(B)=18 n(C)=19 }
n(4d N B)=8 n(4d N C)=12 n(B n C)=8 n(intersect(4,B,C))=3
No03=[N=85F=51,V=49, X=27]
No04=[N=102,E=67, M=48, B=51,X=18,Y=20,Z=10]
No05=[N=43,G=30,W=29,R=19,4=4,B=9,C=20,D=10]
No06=[n(U)=44,n(4 N B)=16,(n(B N A)=n(4 N B))=17]
No07=[N=54,4=32,B=35C=27,D=15E=18, F=15]
No08=[A=23,B=15C=27,D=8,E=18,F=32,G=6]
No09 =[N =600, A =279, B=249, C=321,4B=127,BC=117,AC=137,P=6]

Nol0=[N=760,5=130,4=310,B=110, C=250,D =150, £E=380]
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Set02 for No.14694

NoOI =[n(U)=34,n(4)=18,n(B)=11,n(4 N B)=5]
n(U) = 40 n(4)=23 n(B) =14 n(C)=24 }
(AN B)y=8 nd4dn C)=14 n(B n C)=6 n(intersect(4,B,C))=5
No03=[N=68, F=28, V=32, X=13]
No04=[N=96,E=56, M=47,B=45X=22,Y=18,Z=10]
No05=[N=25,G=18, W=12,R=14,4=5,B=0,C=10,D=3]
No06=[n(U)=50,n(4 N B)=13,(n(B N 4)=n(4 N B))=13]
No07=[N=40,4=18,B=22,C=18,D=3,E=8,F=9]
No08=[A=28,B=15C=20,D=21,E=11,F=31,G=10]
No09 =[N =300, 4 =170, B=120, C =190, AB =92, BC=52, AC=102, P=16]

NolO=[N=680,5=120,4=270,B=160, C=100,D =170, E=160]
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Set02 for No.14705

NoOl =[n(U)=45,n(4)=22,n(B)=28,n(4 N B)=13]
n(U) =39 n(A4)=29 n(B)=18 n(C) =20 }
(AN B)=17 n(4d n C)=13 n(B n C)=9 n(intersect(4, B, C)) =38
No03=[N=80,F=37,V=42,X=17]
No04=[N=119,E=46, M=48, B=54, X=23,Y=28,Z=0]
No05=[N=30,G=16,W=22,R=16,4=2,B=2,C=10,D=4]
No06=[n(U)=44,n(4 N B)=11,(n(B N 4)=n(4 N B))=11]
No07=[N=27,4=17,B=17,C=9,D=5E=8, F=8]
No08=[A=31,B=17,C=29,D=17,E=11,F=27,G=11]
No09 =[N =600, 4 =286, B=316,C=176, AB=152, BC=82,AC=82,P=5]

Nol0O=[N=1780,5=130,4 =480, B=250,C=240,D =250, £ =220]
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Set02 for No.14715

NoOI =[n(U)=44,n(4)=19,n(B)=17,n(4 N B)=17]
n(U) =43 n(4)=19 n(B) =24 n(C)=24 }
n(d N B)=16 n(4d n C)=13 n(B N C)=11 n(intersect(4, B, C))=10
No03=[N=62, F=23,V=32,X=12]
No04=[N=80,E=35M=32,B=34,X=8,Y=24,7=17]
No05=[N=24,G=10,W=13,R=15,4=5,B=6,C=4,D=3]
No06=[n(U)=37,n(4 N B)=11,(n(B N A)=n(4 N B))=6]
No07=[N=38,4=17,B=21,C=15,D=2,E=7,F=8]
No08=[A=36,B=22,C=32,D=22,E=20,F=35G=11]
No09 =[N =600, 4 =207, B=277, C=271,AB =123, BC =83, AC=93, P=6]

Nol0=[N=470,5=70,4=200,8=90,C=70,D=120, E=190]
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Set02 for No.1l4716

NoOI =[n(U)=47,n(4)=23,n(B)=22,n(4 N B)=8]

n(U) = 44 n(4)=29 n(B)=19 n(C) =25 }

(AN B)=9 n(4dn C)=18 n(B n C)=14 n(intersect(4,B,C))=28
No03=[N=66, F=28,V=35X=12]

No04=[N=138,E=70, M=76,B=66,X=19, Y=28,Z=18]

No05=[N=30,G=7,W=23,R=19,4=5,B=9,C=5,D=3]

No06=[n(U)=45,n(4 N B)=5,(n(B N A)=n(4 N B))=12]
No07=[N=27,4=9,B=11,C=22,D=6,E=1,F=9]
No08=[A=24,B=11,C=22,D=16,E=11,F=30,G=9]
No09 =[N = 600, A =310, B =290, C = 320, AB = 150, BC = 160, AC = 160, P = 20]

NolO=[N=710,5=60,4=410,B=140,C=170,D =140, E=280]
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Set02 for No.14719

NoOI =[n(U)=42,n(4)=22,n(B)=15,n(4 N B)=17]
n(U) =41 n(4)=19 n(B)=11 n(C) =24 }
n(d N B)=7 n(dn C)=13 n(B n C)=6 n(intersect(4, B, C))=4
No03=[N=64, F=39, V=35 X=23]
No04=[N=106,E=45,M=54 B=62,X=8,Y=32,Z=10]
No05=[N=43,G=26,W=33,R=20,4=0,B=8,C=16,D=10]
No06=[n(U)=52,n(4 N B)=10,(n(B N 4)=n(4 N B))=16]
No07=[N=34,4=17,B=17,C=22,D=10,E=8, F=8]
No08=[A=31,B=10,C=22,D=16,E=11,F=26,G=6]
No09 =[N =700, 4 =269, B=2359, C=402, AB =103, BC=193,4C=153,P=10]

NolO=[N=1790,S5=280,4=460,8=270,C=220,D =210, E=190]
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Set02 for No.14734

NoOI =[n(U)=43,n(4)=18,n(B)=17,n(4 N B)=5]
n(U) = 44 n(A4)=22 n(B) =24 n(C)=24 }
(AN B)=12 n(4dn C)=6 n(B N C)=13 n(intersect(4,B,C))=5
No03=[N=68, F=35,V=33,X=12]
No04=[N=111,E=59, M=44, B=50,X=18,Y=29,Z=10]
No05=[N=32,G=14,W=15,R=16,4=4,B=5,C=1,D=0]
No06=[n(U)=47,n(4 N B)=8,(n(B N A)=n(4 N B))=14]
No07=[N=47,4=30,B=24,C=22,D=13,E=15,F=8]
No08=[A=18,B=10,C=19,D=5,E=7,F=19,G=5]
No09 =[N =400, 4 =235,B=175, C=217, AB =95, BC =85, AC =155, P =20]

NolO=[N=660,5=90,4=300,B=110,C=160,D =130, E=290]
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